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QUESTION 1

Which of these can you use to effectively and dynamically reduce IP address spoofing?
A. Egress Packet Filtering

B. Ingress Packet Filtering

C. Egress Route Filtering

D. route dampening

E. unicast Reverse Path Forwarding

Correct Answer: E

QUESTION 2

Refer to the exhibit.
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Source

Receiver Receilver

You are a network designer who is given these design requirements: Multicast services must be provided for Layer 3
VPN customers The same forwarding technology must be used as Layer 3 VPN unicast packets Replication of multicast
traffic is not allowed on the ingress PE Which multicast VPN technology conforms to the design requirements?

A. Multipoint-to-point LDP

B. MSDP

C. MLDP VPN

D. Rosen Draft using LDP

Correct Answer: C
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QUESTION 3

What statement is true about designing a policy in which more than one class share a queue?
A. It must be avoided under all circumstances.

B. It will result in a negative class.

C. It requires consideration of the performance targets of classes sharing the queue.

D. It should be deployed throughout the network to simplify the design.

Correct Answer: C

QUESTION 4

Which two components are the responsibility of the customers in a Platform as a Service offering? (Choose 2)
A. data

B. APIs

C. hardware

D. applications

E. infrastructure connectivity

Correct Answer: AD

QUESTION 5

When creating a network design that routes an IGP over L2VPNs, with which device does the remote CE router form an
IGP adjacency?

A. the hub site PE router

B. the hub site CE router

C. the directly connected PE router

D. The IGP will not establish adjacency over the MPLS network.

Correct Answer: B
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